



Citation: Isara Patawang, Suphat Prasopsin, Chatmongkon Suwannapoom, Alongklod Tanomtong, Puntivar Keawmad, Weera Thongnetr (2022) Chromosomal description of three *Dixonius* (Squamata, Gekkonidae) from Thailand. *Caryologia* 75(2): 101-108. doi: 10.36253/caryologia-1432

Received: October 22, 2021

Accepted: October 22, 2021

Published: September 21, 2022

Copyright: © 2022 Isara Patawang, Suphat Prasopsin, Chatmongkon Suwannapoom, Alongklod Tanomtong, Puntivar Keawmad, Weera Thongnetr. This is an open access, peer-reviewed article published by Firenze University Press (http://www.fupress.com/caryologia) and distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

Data Availability Statement: All relevant data are within the paper and its Supporting Information files.

Competing Interests: The Author(s) declare(s) no conflict of interest.

Chromosomal description of three *Dixonius* (Squamata, Gekkonidae) from Thailand

Isara Patawang¹, Suphat Prasopsin², Chatmongkon Suwannapoom³, Alongklod Tanomtong⁴, Puntivar Keawmad⁵, Weera Thongnetr^{6,*}

¹ Department of Biology, Faculty of Science, Chiang Mai University, Muang Chiang Mai, Chiang Mai, Thailand

² Research Academic Supports Division, Mahidol University, Kanchanaburi Campus, Saiyok, Kanchanaburi, Thailand

³ Department of Fishery, School of Agriculture and Natural Resources, University of Phayao, Muang Phayao, Phayao, Thailand

⁴ Program of Biology, Faculty of Science, Khon Kaen University, Muang Khon Kaen, Khon Kaen, Thailand

⁵ Major of Biology, Faculty of Science and Technology, Mahasarakham Rajabhat University, Muang Mahasarakham, Maha Sarakham, Thailand

⁶ Walai Rukhavej Botanical Research Institute, Mahasarakham University, Kantharawichai, Maha Sarakham, Thailand

*Corresponding author: weeraatah@hotmail.com

Abstract. Chromosomal characteristics and karyological analysis of three Dixonius, including D. hangseesom, D. siamensis and D. melanostictus, from Thailand were studied. Chromosome preparations were conducted by squash technique from bone marrow and testis. Conventional Giemsa's staining and Ag-NOR banding techniques were applied to stain the chromosome. The results showed that the diploid chromosomes are 2n=40, for D. hangseesom and D. siamensis; and 2n=42, for D. melanostictus. The fundamental number (NF) is 42 in D. hangseesom and D. siamensis and 44 in D. melanostictus. The types of chromosomes were 2 metacentrics and 38 telocentrics for D. hangseesom and D. siamensis, while the karvotype of D. melanostictus comprised 2 acrocentrics and 40 telocentrics. In the D. hangseesom and D. siamensis, NORs are located to the near centromere on long arm of the telocentric chromosome pair 13. Although, the NORs of D. melanostictus are situated on the subtelomeric region of telocentric chromosome pair 8. There are no sex differences in karyotypes between males and females of these three geckos species. We found that during metaphase I and metaphase II on male meiosis of the D. hangseesom and D. siamensis, the homologous chromosomes showed synapsis of 20 bivalents and 20 haploid chromosomes (n=20). Moreover, metaphase I and metaphase II of the male D. melanostictus showed synapsis of 21 bivalents and 21 haploid chromosomes (n=21). Their karyotype formulas is as follows: D. hangseesom (2n=40): $L_{2}^{m} + L_{2}^{t} + M_{4}^{t} + S_{32}^{t}$, D. siamensis (2n=40): $L_{2}^{m} + L_{6}^{t} + M_{4}^{t} + S_{28}^{t}$, and D. melanostictus (2n=42): $L_{2}^{a} + L_{12}^{t} + M_{4}^{t} + S_{24}^{t}$.

Keywords: Dixonius, chromosome, karyotype, Nucleolar Organizer Region (NOR).

INTRODUCTION

Dixonius is a genus of Asian geckos or commonly known as leaf-toed geckos that belong to the class Reptilia, order Squamata, and family Gekkonidae. The Dixonius was first chosen to accommodate Southeast Asian leaf-toed geckos previously to the polyphyletic and nearly cosmopolitan Phyllodactylus (Bauer et al. 1997). The D. siamensis is the type species of the genus Dixonius, which receive name from the first zoologist that note siamensis (Dixon 1964). In Thailand, total 7 species of Dixonius were found including D. dulayaphitakorum, D. hangseesom, D. kaweesaki, D. mekongensis, D. melanostictus, D. pawangkhananti and D. siamensis (Sumontha et al. 2017; Pauwels et al. 2020, 2021).

Only about 10% of gekkonid species have been karyotyped and were studied with classical cytogenetic methods, including routine staining, as well as R, NOR and C banding (Moritz 1984; Shibaike et al. 2009). The series from 2n=28 to 46 of the diploid chromosomes is characteristic of the gekkonid lizard's karyotype (Gorman 1973; King 1987; Schmid et al. 1994). The typical karyotype consists of a gradual series of mono-armed chromosome (sometimes with a few bi-armed chromosome), and there is no distinction between macro- and microchromosomes are present, the centromere is often subterminal (Gorman 1973). Karyotype evolution within the group is accompanied by Robertsonian fusions, fissions and pericentric inversions (Gorman 1973; King 1987). Examples of the gekkonid's chromosome study in Thailand that were reported: Gekko gecko, 2n=38=12biarmed+26mono-armed (Patawang et al. 2014); Hemidactylus frenatus, 2n=40=34bi-armed+6mono-armed; H. platyurus, 2n=46=2bi-armed+44mono-armed (Patawang and Tanomtong 2015); Cyrtodactylus kunyai, 2n=40=12bi-armed+28mono-armed; C. interdigitalis, 2n=42=10bi-armed+32mono-armed (Thongnetr et al. 2019); *C. jarujini*, 2n=40=28bi-armed+12mono-armed; and *C. doisuthep*, 2n=34=28bi-armed+6mono-armed (Thongnetr et al. 2021) etc.

In Thailand, there is only one previous report on *Dixonius* species chromosome. Ota et al. (2001) demonstrated that *D. siamensis*' karyotype by conventional staining technique is as 2n=42, male and female specimen from Mae Yom National Park, Phrae Province, Thailand; and 2n=40, male from Phu Wua Wild Life Reserve Area, Nongkhai Province, Thailand. The present study of the karyological analysis of *D. hangseesom*, *D. siamensis* and *D. melanostictus*, provides the first report on the Ag-NOR banding technique, chromosome size, chromosome type, karyotype formula, and standardized idiogram which are compared to earlier reports.

MATERIALS AND METHODS

Sample collection

Both male and female of three *Dixonius* species (Figure 1) were collected from three sites in Thailand, *D. hangseesom* from Kanchanaburi Province; *D. siamensis* from Chiang Mai Province; and *D. melanostictus* from Saraburi Province. The geckos were transferred to the laboratory and kept under standard conditions for one day prior to the experimentation.

Chromosome preparation

Chromosomes were directly prepared *in vivo* (Patawang et al. 2014) by injecting phytohemagglutinin (PHA) solution into its abdominal muscle. After ten hours, colchicine is injected to animal intramuscular and its abdominal cavity and left for 8-10 hours. Bone marrow (in male and female) and testis (in male) are cut



Figure 1. General characteristic of the *D. hangseesom* (a), *D. siamensis* (b) and *D. melanostictus* (c) from Thailand. Scale bars indicate 1 centimeter.

into small pieces then mix squash with 0.075M potassium chloride (KCl). After discarding all large cell pieces, 15 ml of cell sediment is transferred to a centrifuge tube and incubated for 30-40 minutes. Cells were fixed in fresh cool Canoy fixative (3 absolute methyl alcohol: 1 glacial acetic acid) gradually added up to 8 ml before centrifuging again at 3,000 rpm for 10 minutes, whereupon the supernatant was discarded. Fixation was repeated until the supernatant was clear and the pellet was mixed with 1 ml fixative. The mixture was dropped onto a clean and cold slide by micropipette followed by the air-drying.

Chromosome staining

Conventional staining (Gosden 1994)

The mixture is dropped onto a clean and cold slide by micropipette followed by the air-dry technique. The slide is conventionally stained with 20% Giemsa's solution for 30 minutes.

Ag-NOR banding (Howell and Black 1980)

The two drops of each 50% silver nitrate and 2% gelatin were added on slides, respectively. Then it was sealed with cover glasses and incubated at 60 °C for 5-10 minute. There after that it was soaked in distilled water until cover glasses are separated.

Chromosome checking

Ten clearly observable cells with well spread chromosomes of each male and female were selected and photographed. The length of short arm chromosome (Ls) and long arm chromosome (Ll) were measured and the length of total arm chromosome (LT, LT = Ls+Ll) was calculated. The relative length (RL), the centromeric index (CI), and standard deviation (SD) of RL and CI were estimated (Turpin and Lejeune 1965; Chaiyasut 1989). The CI (q/[p+q]) between 0.500-0.599, 0.600-0.699, 0.700-0.899, and 0.900-1.000 were described as metacentric, submetacentric, acrocentric and telocentric chromosomes, respectively. The fundamental number (NF, number of chromosome arms) was obtained by assigning a value of 2 to the metacentric, submetacentric and acrocentric chromosomes and 1 to the telocentric chromosome. All data were used in karyotyping and idiograming.

RESULTS AND DISCUSSION

Diploid number and chromosome characteristics

Karyomorphology of the D. hangseesom and D. siamensis revealed that the diploid chromosome number (2n) is 40 and the D. melanostictus showed 2n=42. The karyotypes of male and female D. hangseesom composed 2 large metacentrics, 2 large telocentrics, 4 medium telocentrics and 32 small telocentrics (Table 1 and Figures 2a-b, 4a). For the karyotypes of male and female D. siamensis comprised 2 large metacentrics, 6 large telocentrics, 4 medium telocentrics and 28 small telocentrics (Table 2 and Figures 2c-d, 4b). Though, both sexs of D. melanostictus's karyotypes consisted 2 large acrocentrics, 12 large telocentrics, 4 medium telocentric and 24 small telocentrics (Table 3 and Figures 2e-f, 4c). All three Dixonius species exhibit no sex differences in karyotypes between males and females (Figures 2a-f). The chromosomal characteristic of D. hangseesom and D. siamensis showed more the closed relationship than D. melanostictus. Karyotypes of the D. hangseesom and D. siamensis revealed the same of diploid number and chromosome type, which has only different chromosome size. Their karyotype formulas is as follows:

 $\begin{array}{l} 2n = 40 = L^{m}_{2} + L^{t}_{2} + M^{t}_{4} + S^{t}_{32} \ (D. \ hangseesom) \\ 2n = 40 = L^{m}_{2} + L^{t}_{6} + M^{t}_{4} + S^{t}_{28} \ (D. \ siamensis) \\ 2n = 42 = L^{a}_{2} + L^{t}_{12} + M^{t}_{4} + S^{t}_{24} \ (D. \ melanostictus). \end{array}$

The chromosome character of *D. hangseesom* (2n=40) and *D. melanostictus* (2n=42) from this study is the first report of both species. However, the diploid result of *D. siamensis* (2n=40) in this report both showed difference and accordance with *D. siamensis* in the reported of Ota et al. (2001). It is possible that reported by Ota et al. (2001) may have studied more than one with the complex species. However, overall of these karyotypes of *D. hangseesom*, *D. siamensis* and *D. melanostictus* resemble to other gekkonid, which comprised many gradient mono-armed (telocentric) and few bi-armed chromosomes (meta-, submeta- or acrocentric). Proximity of chromosome number and karyotype feature within genus *Dixonius* represents a close evolutionary line in the group.

Nucleolar organizer regions and haploid number

This study is the first report of nucleolar organizer regions in *D. hangseesom*, *D. siamensis* and *D. melanostictus*. In both sexs of the *D. hangseesom* and *D. siamensis*, we found the clearly observable NORs on the region

Table 1. Mean length of short arm chromosome (Ls), long arm chromosome (Ll), length of total chromosomes (LT), centromeric index (CI), relative length (RL) and standard deviation (SD) of CI and RL from 20 metaphases of male and female yellow-tailed leaf-toed gecko (*Dixonius hangseesom*) 2n=40.

Chr pair	Ls	Ll	LT	CI±SD	RL±SD	Chr size	Chr type
1	6.156	6.718	12.874	0.522±0.024	0.143±0.002	Large	Metacentric
2	0.000	10.305	10.305	1.000 ± 0.000	0.114 ± 0.002	Large	Telocentric
3	0.000	7.204	7.204	1.000 ± 0.000	$0.080 {\pm} 0.001$	Medium	Telocentric
4	0.000	6.470	6.470	1.000 ± 0.000	0.072 ± 0.003	Medium	Telocentric
5	0.000	5.445	5.445	1.000 ± 0.000	$0.060 {\pm} 0.002$	Small	Telocentric
6	0.000	4.924	4.924	1.000 ± 0.000	$0.055 {\pm} 0.003$	Small	Telocentric
7	0.000	4.434	4.434	1.000 ± 0.000	$0.049 {\pm} 0.003$	Small	Telocentric
8	0.000	4.037	4.037	1.000 ± 0.000	$0.045 {\pm} 0.003$	Small	Telocentric
9	0.000	3.661	3.661	1.000 ± 0.000	$0.040 {\pm} 0.001$	Small	Telocentric
10	0.000	3.484	3.484	1.000 ± 0.000	$0.039 {\pm} 0.002$	Small	Telocentric
11	0.000	3.297	3.297	1.000 ± 0.000	$0.037 {\pm} 0.002$	Small	Telocentric
12	0.000	3.036	3.050	1.000 ± 0.000	$0.034{\pm}0.001$	Small	Telocentric
13*	0.000	3.050	3.036	1.000 ± 0.000	$0.034 {\pm} 0.002$	Small	Telocentric
14	0.000	3.007	3.007	1.000 ± 0.000	$0.033 {\pm} 0.001$	Small	Telocentric
15	0.000	2.724	2.724	1.000 ± 0.000	$0.030 {\pm} 0.003$	Small	Telocentric
16	0.000	2.661	2.671	1.000 ± 0.000	0.030 ± 0.003	Small	Telocentric
17	0.000	2.671	2.661	1.000 ± 0.000	0.029 ± 0.003	Small	Telocentric
18	0.000	2.434	2.434	1.000 ± 0.000	$0.027 {\pm} 0.001$	Small	Telocentric
19	0.000	2.273	2.273	1.000 ± 0.000	0.025 ± 0.001	Small	Telocentric
20	0.000	2.239	2.239	1.000 ± 0.000	0.025 ± 0.002	Small	Telocentric

Abbreviations: Chr, chromosome; *, NORs bearing chromosomes.

adjacent to subcentromeric of the telocentric chromosome pair 13th (Figures 3a-d, 4a-b). Whereas, the NORs of male and female D. melanostictus are situated on the subtelomeric region of telocentric chromosome pair 8th (Figures 3e-f, 4c). The NORs characteristic of D. hangseesom and D. siamensis showed more the closed relationship than D. melanostictus. Position of nucleolar organizer regions of the D. hangseesom and D. siamensis revealed the same located, subcentromeric of telocentric chromosome pair 13th. Compared with other geckos, most showed two NORs appearing near terminal region (centromere or telomere) of small bi-armed or small mono-armed chromosome. An example of the previous reports of the geckos' NOR localization included in the genus Cyrtodactylus (Thongnetr et al. 2019, 2021), Gehyra (King 1983), Gekko (Chen et al. 1986; Shibaike et al. 2009; Patawang et al. 2014), Hemidactylus (Patawang and Tanomtong 2015), and Lepidodactylus (Trifonov et al. 2015). These previous studies showed the NOR appearing near terminal region of one homologous small chromosome.

The metaphase I (meiosis I, reductional division) was found which can be defined as the 20 bivalents for *D. hangseesom* (Figure 5a) and *D. siamensis* (Figure 5c), and 21 bivalents for *D. melanostictus* (Figure 5e). No

metaphase I cells with partially paired bivalents, which are speculated to be male heteromorphic sex chromosomes in these three *Dixonius* species. Moreover, haploid chromosome of n=20 in *D. hangseesom* (Figure 5b), n=20 in *D. siamensis* (Figure 5d) and n=21 in *D. melanostictus* (Figure 5f) were found at metaphase II (meiosis II, equational division) of spermatid cells. For these results, behavior and number of chromosomes in metaphase I and metaphase II confirmed of each other's accuracy and also verified the accuracy of diploid chromosome in somatic cells.

An overview of Dixonius chromosomal feature and their chromosome evolution

Gekkonid chromosome that has been reported in the past, most species show the gradient karyotype, which comprising of many mono-armed chromosomes and few bi-armed chromosomes. Present results of *D. hangseesom*, *D. siamensis* and *D. melanostictus* agree with chromosomal evolution line hypothesis within the gekkonid group. The karyotype of these three *Dixonius* showed the gradient of major telocentric, while just comprised 2 bi-armed chromosomes. These features conform to the

(-)

(a)	88	00					
COV CO	1	2	3	АО 4	5	6	7
0.000	8	9	10	11	12	13	
		••			12	**	14
	15	16	17	18	19	20	
(b)							
1 C	88	2	3	A	5	6	7
	8	9	10	11	12	13	•• 14
1.8			••		••		14
(c)	15	16	17	18	19	20	
	X X 1	2	3	4	5	6	7
	8	9	10		12	13	14
4.5.		••		**		**	14
	15	16	17	18	19	20	
(d)							
(d)			2000 mil 2				
(d)	8.8 1	2	3	4	5	6	7
(d)	1	2	3	4	5	6	
(d)	1	2	3	4	5	6	
(d)	1	2 9	3 10	4	5 12	6 13	
(d) (e)	1 8 15	2 9 16	3 10 17	4	5 12 19	6 13 20	14
	1	2 9	3 10	4	5	6 13	
	1 8 15	2 9 16 2	3 10 17 3	4 11 18	5 12 19 5	6 13 20 6	14
	1 8 15 1 8	2 9 16 2 9	3 10 17 3 10	4 11 18 00 4	5 12 19 5 12	6 13 20 6 13	14 7 14
	1 8 15 1 8	2 9 16	3 10 17 3 10	4 11 18 00 4 11	5 12 19 5 12	6 13 20 6 6	14 7 14
	1 8 15 1 8	2 9 16 2 9 16	3 10 17 3 10 17	4 11 18 4 11 18	5 12 19 5 12 19	6 13 20 6 13 20	14 7 14 21
(e)	1 8 15 1 8	2 9 16 2 9	3 10 17 3 10	4 11 18 00 4	5 12 19 5 12	6 13 20 6 13	14 7 14
(e)	1 8 15 1 8 15 15	2 9 16 9 16	3 10 17 3 10 17	4 11 18 4 4 11 18	5 12 19 5 5 12 19	6 13 20 6 13 20	14 7 14 21 7
(e)	1 8 15 1 8 15	2 9 16 2 9 16	3 10 17 3 10 17	4 11 18 00 4 11 18 00 4	5 12 19 5 12 19	6 13 20 6 13 20	14 7 14 21 7

Figure 2. Metaphase chromosome plates and karyotypes using conventional Giemsa's staining of male (a) and female (b) D. hangseesom (2n=40); male (c) and female (d) D. siamensis (2n=40); and male (e) and female (f) D. melanostictus (2n=42). Scale bars indicate 10 micrometers.

hypothesis of rearrangement from ancestral karyotype by Robertsonian fusions, fissions or pericentric inversions (Gorman 1973; King 1987). In this study, from all chromosome characters by conventional Giemsa's staining and Ag-NOR banding techniques, we suggest that the chromosome of Dixonius showed a high genetic conservation and there were only a few changes at the chromosome structure level. However, the chromosome of D. hangseesom and D. siamensis showed more the closed evolutionary relationship than D. melanostictus.

(a)	115						
Ser.	88	00	00	00	00	00	~
1539	1	2	3	4	5	6 ×	7
18:33	8	9	10	11	12	13	14
· >c · ·						**	
	15	16	17	18	19	20	
(b)							
(0)	X8	10	0.0	0.0	n#	00	
	1	2	3	4	5	6	7
90.161		~~	~	* 0		Y	
V 2 2 0 0	8	9	10	11	12	13	14
· · · ·	15	** 16	 17	 18	19	20	
(c)	15	10	17	10	19	20	
- Bit a							
8-1600	88	20	~~			-	-
2 " v!	1	2	3	4	5	6	7
7	8	9	10	11	12	13	14
		-		-			
- •	15	16	17	18	19	20	
(d)							
· · · · · · · ·	XX	ÔΛ	60	~~	-		-
- C. ' C.'	1	2	3	4	5	6	7
1		** **	-	-	-	**	-
\$.1	8	9	10	11	12	13	14
- 14, 2	15	16	17	18	•• 19	20	
(.)	15	10	17	10	17	20	
(e)	8.5						
	88	0.0	3		0.0		7
1	1	2		4	5	6	
	8	9	10	11	12	13	14
11:00		~	**	**			**
_	15	16	17	18	19	20	21
(f)							
11 4	M	88	86	8.0	89	00	0.0
0100	1	2	3	4	5	6	7
1. 511	-00 ×	8.8	0.0	**	**	5.0	
240	8	9	10	11	12	13	14
2 1	•• 15	16	10 17	18	** 19	20	21

Figure 3. Metaphase chromosome plates and karyotypes using Ag-NOR staining of male (a) and female (b) D. hangseesom (2n=40); male (c) and female (d) D. siamensis (2n=40); and male (e) and female (f) D. melanostictus (2n=42). Arrows indicate nucleolar organizer regions (NORs) and scale bars indicate 10 micrometers.

ACKNOWLEDGEMENTS

This research was financially supported by sharing from the Thailand Science Research and Innovation (TSRI) 2021, Mahasarakham University and the Unit of Excellence 2022 on Biodiversity and Natural Resources Management, University of Phayao (FF65-UoE003). The project was approved by the Institute of Animals for Scientific Purpose Development of National Research Council of Thailand (Resolution U1-02740-2559).

Table 2. Mean length of short arm chromosome (Ls), long arm chromosome (Ll), length of total chromosomes (LT), centromeric index (CI), relative length (RL) and standard deviation (SD) of CI and RL from 20 metaphases of male and female Siamese leaf-toed gecko (*Dixonius siamensis*), 2n=40.

Chr pair	Ls	Ll	LT	CI±SD	RL±SD	Chr size	Chr type
1	5.925	6.102	12.027	0.507±0.032	0.125±0.002	Large	Metacentric
2	0.000	10.928	10.928	1.000 ± 0.000	0.113 ± 0.001	Large	Telocentric
3	0.000	8.012	8.012	1.000 ± 0.000	$0.083 {\pm} 0.002$	Large	Telocentric
4	0.000	7.072	7.072	1.000 ± 0.000	0.073 ± 0.003	Large	Telocentric
5	0.000	6.821	6.821	1.000 ± 0.000	$0.071 {\pm} 0.003$	Medium	Telocentric
6	0.000	6.121	6.121	1.000 ± 0.000	$0.064 {\pm} 0.002$	Medium	Telocentric
7	0.000	5.814	5.814	1.000 ± 0.000	0.060 ± 0.002	Small	Telocentric
8	0.000	5.214	5.214	1.000 ± 0.000	$0.054{\pm}0.001$	Small	Telocentric
9	0.000	4.012	4.012	1.000 ± 0.000	0.042 ± 0.002	Small	Telocentric
10	0.000	3.628	3.628	1.000 ± 0.000	0.038 ± 0.003	Small	Telocentric
11	0.000	3.421	3.421	1.000 ± 0.000	0.036 ± 0.002	Small	Telocentric
12	0.000	3.214	3.214	1.000 ± 0.000	0.033 ± 0.001	Small	Telocentric
13*	0.000	3.042	3.042	1.000 ± 0.000	0.032 ± 0.001	Small	Telocentric
14	0.000	2.988	2.988	1.000 ± 0.000	$0.031 {\pm} 0.002$	Small	Telocentric
15	0.000	2.756	2.756	1.000 ± 0.000	0.029 ± 0.003	Small	Telocentric
16	0.000	2.524	2.524	1.000 ± 0.000	0.026 ± 0.003	Small	Telocentric
17	0.000	2.326	2.326	1.000 ± 0.000	$0.024{\pm}0.001$	Small	Telocentric
18	0.000	2.214	2.214	1.000 ± 0.000	$0.023 {\pm} 0.001$	Small	Telocentric
19	0.000	2.112	2.112	1.000 ± 0.000	0.022 ± 0.002	Small	Telocentric
20	0.000	2.042	2.042	1.000 ± 0.000	0.021±0.002	Small	Telocentric

Abbreviations: Chr, chromosome; *, NORs bearing chromosomes.

Table 3. Mean length of short arm chromosome (Ls), long arm chromosome (Ll), length of total chromosomes (LT), centromeric index (CI), relative length (RL) and standard deviation (SD) of CI and RL from 20 metaphases of male and female dark-sides ground gecko (*Dixonius melanostictus*), 2n=42.

Chr pair	Ls	Ll	LT	CI±SD	RL±SD	Chr size	Chr type
1	2.019	5.945	7.964	0.746±0.029	0.101±0.002	Large	Acrocentric
2	0.000	7.363	7.363	1.000 ± 0.000	0.094 ± 0.002	Large	Telocentric
3	0.000	7.241	7.241	1.000 ± 0.000	0.092 ± 0.001	Large	Telocentric
4	0.000	7.026	7.026	1.000 ± 0.000	0.089 ± 0.003	Large	Telocentric
5	0.000	6.736	6.736	1.000 ± 0.000	0.086 ± 0.003	Large	Telocentric
6	0.000	6.159	6.159	1.000 ± 0.000	0.078 ± 0.002	Large	Telocentric
7	0.000	4.739	4.739	1.000 ± 0.000	0.060 ± 0.002	Large	Telocentric
8*	0.000	4.506	4.506	1.000 ± 0.000	0.057 ± 0.001	Medium	Telocentric
9	0.000	4.102	4.102	1.000 ± 0.000	0.052 ± 0.003	Medium	Telocentric
10	0.000	3.824	3.824	1.000 ± 0.000	0.049 ± 0.002	Small	Telocentric
11	0.000	3.256	3.256	1.000 ± 0.000	0.041±0.003	Small	Telocentric
12	0.000	2.109	2.109	1.000 ± 0.000	0.027±0.003	Small	Telocentric
13	0.000	2.047	2.047	1.000 ± 0.000	0.026 ± 0.001	Small	Telocentric
14	0.000	2.024	2.024	1.000 ± 0.000	0.026±0.001	Small	Telocentric
15	0.000	1.812	1.812	1.000 ± 0.000	0.023 ± 0.001	Small	Telocentric
16	0.000	1.556	1.556	1.000 ± 0.000	0.020 ± 0.002	Small	Telocentric
17	0.000	1.508	1.508	1.000 ± 0.000	0.019 ± 0.003	Small	Telocentric
18	0.000	1.375	1.375	1.000 ± 0.000	0.017 ± 0.002	Small	Telocentric
19	0.000	1.130	1.130	1.000 ± 0.000	0.014 ± 0.002	Small	Telocentric
20	0.000	1.062	1.062	1.000 ± 0.000	0.014 ± 0.002	Small	Telocentric
21	0.000	1.057	1.057	1.000 ± 0.000	0.013±0.001	Small	Telocentric

Abbreviations: Chr, chromosome; *, NORs bearing chromosome.



Figure 4. Standardized idiogram of *D. hangseesom* (a), *D. siamensis* (b) and *D. melanostictus* (c). Arrows indicate nucleolar organizer regions (NORs).

REFERENCES

- Bauer AM, Good DA, Branch WR. 1997. The taxonomy of the southern African leaf-toed geckos (Squamata: Gekkonidae), with a review of Old World "*Phyllodactylus*" and the description of five new genera. Proc *Calif Acad Sci.* 49:447–497.
- Chaiyasut K. 1989. Cytogenetics and cytotaxonomy of the genus *Zephyranthes*. Bangkok: Department of Botany, Faculty of Science, Chulalongkorn University. Thai.
- Chen J, Peng X, Yu D. 1986. Studies on the karyotype of three species of the genus *Gekko*. Acta Herpetol Sinica. 5:24–29.
- Dixon JR. 1964. The systematics and distribution of lizard of the genus *Phyllodactylus* in North and Central America. Bull Res Cent New Mexico St Univ. 64(1):1–139.

- Gorman GC. 1973. The chromosome of the Reptilia, a cytotaxonomic interpretation. In: Chiarelli AB, Cappana E. (eds) Cytotaxonomy and Vertebrate Evolution. New York: Academic Press.
- Gosden JR. 1994. Chromosome Analysis Protocols. New Jersey: Humana Press Inc.
- Howell WM, Black DA. 1980. Controlled silver-staining of nucleolus organizer regions with a protective colloidal developer: a 1-step method. Experientia. 36(8):1014–1015.
- King M. 1983. Karyotypic evolution in *Gehyra* (Gekkonidae: Reptilia) III, the *Gehyra australis* complex. Aust J Zool. 31:723–741.
- King M. 1987. Monophyleticism and polyphyleticism in the Gekkonidae: a chromosomal perspective. Aust J Zool. 35(6):641–654.
- Moritz C. 1984. The evolution of a highly variable sex



Figure 5. Respective bivalent on metaphase I and haploid chromosome on metaphase II of male *D. hangseesom* (20 bivalents, a; 20 haploid chromosomes, b), male *D. siamensis* (20 bivalents, c; 20 haploid chromosomes, d) and male *D. melanostictus* (21 bivalents, e; 21 haploid chromosomes, f). Scale bars indicate 5 micrometers.

chromosome in *Gehyra purpurascens* (Gekkonidae). Chromosoma. 90(2):111–119.

- Ota H, Hikida T, Nabhitabhata J, Panha S. 2001. Cryptic taxonomic diversity in two broadly distributed lizards of Thailand (*Mabuya macularia* and *Dixonius siamensis*) as revealed by chromosomal investigations (Reptilia: Lacertilia). Nat Hist J Chulalongkorn Univ. 1(1):1–7.
- Patawang I, Tanomtong A, Jumrusthanasan S, Kakampuy W, Neeratanaphan L, Pinthong K. 2014. Chromosomal characteristics of NORs and karyological analysis of tokay gecko, *Gekko gecko* (Gekkonidae, Squamata) from mitotic and meiotic cell division. Cytologia. 79(3):315–324.
- Patawang I, Tanomtong A. 2015. Karyological analysis of Asian house gecko (*Hemidactylus frenatus*) and frilly house gecko (*H. platyurus*) from northeastern Thailand. In: The 19th National Genetics Conference 2015 –Genetics and Genomics, from Molecular Studies to

Applications. Bangkok: Genetics Society of Thailand.

- Pauwels OSG, Chomngam N, Larsen H, Sumontha M. 2020. A new limestone-dwelling leaf-toed gecko (Gekkonidae: *Dixonius*) from coastal hills in Cha-am, peninsular Thailand. Zootaxa. 4845(1):97–108.
- Pauwels OSG, Panitvong N, Kunya K, Sumontha M. 2021. A new sandstone-dwelling leaf-toed gecko (Gekkonidae: *Dixonius mekongensis*) from the Thai-Lao border. Zootaxa. 4969(3):526–538.
- Schmid M, Feichtinger W, Nanda I, Schakowski R, Garcia RV, Puppo JM, Badillo AF. 1994. An extraordinary low diploid chromosome number in the reptile *Gonatodes taniae* (Squamata, Gekkonidae). Heredity. 85:255–260.
- Shibaike Y, Takahashi Y, Arikura I, Iiizumi R, Kitakawa S, Sakai M, Imaoka C, Shiro H, Tanaka H, Akakubo N, Nakano M, Watanabe M, Ohne K, Kubota S, Kohno S, Ota H. 2009. Chromosome evolution in the lizard genus *Gekko* (Gekkonidae, Squamata, Reptilia) in the East Asian islands. Cytogenet Genome Res. 127:182– 190.
- Sumontha M, Chomngam N, Phanamphon E, Pawangkhanant P, Viriyapanon C, Thanaprayotsak W, Pauwels OSG. 2017. A new limestone-dwelling leaftoed gecko (Gekkonidae: *Dixonius*) from Khao Sam Roi Yot massif, peninsular Thailand. Zootaxa. 4247(5):556–568.
- Thongnetr W, Tanomtong A, Prasopsin S, Maneechot N, Pinthong K, Patawang I. 2019. Cytogenetic study of the bent-toed gecko (Reptilia, Gekkonidae) in Thailand; I Chromosomal classical features and NORs characterization of *Cyrtodactylus kunyai* and *C. interdigitalis*. Caryologia. 72(1):23–28.
- Thongnetr W, Aiumsumang S, Kongkaew R, Tanomtong A, Suwannapoom C, Phimphan S. 2021. Cytogenetic characterisation and chromosomal mapping of microsatellite and telomeric repeats in two gecko species (Reptilia, Gekkonidae) from Thailand. Comp Cytogenet. 15(1):41–52.
- Trifonov VA, Paoletti A, Barucchi VC, Kalinina T, O'Brien P CM, Ferguson-Smith MA, Giovannotti M. 2015. Comparative chromosome painting and NOR distribution suggest a complex hybrid origin of triploid *Lepidodactylus lugubris* (Gekkonidae). PLoS One. 10(7):e0132380.
- Turpin R, Lejeune J. 1965. Les chromosomes humains (caryotype normal et variations pathologiques). Paris: Gauthier-Villars.